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java.lang
Class ArithmeticException
j ava. | ang. Obj ect
L_j ava. | ang. Thr owabl e
Lj ava. | ang. Excepti on
Lj ava. | ang. Runt i meExcepti on
Ljava.lang. Ari t hneti cExcepti on

All Implemented Interfaces:

Serializable

public class ArithmeticException
extends RuntimeException

Thrown when an exceptional arithmetic condition has occurred. For example, an
integer "divide by zero" throws an instance of this class.

Since:
JDK1.0

PAIT XY D'2a"NN NI n|7'7nnn nX /TN

public class Rational {
private int denom;
private int num;

public Rational (int denom, int num) {
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public void add(Rational 1) {

public void divideBy(Rational ) {
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public void multiply(Rational 1) {

public boolean equals(Rational r) {
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NIVYOI NNTAM TIFTIR AIX™7? N7nnn
public class Vertex{}
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java.util
Interface Set<E>

All Superinterfaces:

Collection<E>, Iterable<E>
Some Implementing Classes:

HashSet, LinkedHashSet, TreeSet

public interface Set<E>
extends Col |l ecti on<BE>

A collection that contains no duplicate elements...

Method Summary

bool ean |add(E o)

Adds the specified element to this set if it is not already present (optional operation).

bool ean |addAl | (Col | ecti on<? extends E> c)

Adds all of the elements in the specified collection to this set if they're not already present (optional operation).

voi d |clear()

Removes all of the elements from this set (optional operation).

bool ean | cont ai ns( Cbj ect 0)

Returns t r ue if this set contains the specified element.

bool ean |contai nsAl | (Col | ecti on<?> c)

Returns t r ue if this set contains all of the elements of the specified collection.

bool ean |equal s( Qbj ect 0)
Compares the specified object with this set for equality.

i nt |hashCode()

Returns the hash code value for this set.

bool ean |i sEnpt y()
Returns t r ue if this set contains no elements.

Iterator<E>|iterator()

Returns an iterator over the elements in this set.

bool ean |renove( bj ect 0)

Removes the specified element from this set if it is present (optional operation).
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bool ean .
renoveAl | (Col | ection<?> c)
Removes from this set all of its elements that are contained in the specified collection (optional operation).
bool ean |retai nAll (Col | ecti on<?> c)
Retains only the elements in this set that are contained in the specified collection (optional operation).
int |size()
Returns the number of elements in this set (its cardinality).
Obj ect[] |toArray()
Returns an array containing all of the elements in this set.
<T> T[] |toArray(T[] a)
Returns an array containing all of the elements in this set; the runtime type of the returned array is that of the
specified array.
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public class Base {
protected int i = 0
public Base(int i) { thisi =1i; }
public Base(Base b) { this(b.i); }
public Base foo() { return new Base(this); }

}

public class Sub extends Base {
public Sub(int i) { super(i); }
public Sub(Sub s) { super(s.i * 2); }
public Base foo() { return this; }
public boolean equals(Object o) { teturn ((Sub) 0).i == this.i; }

public static void main(String[] args) {
Base bl = new Base(1);
Base b2 = bl;
Base b3 = b2.foo();
Base b4 = new Sub(1);
Base b5 = b4.foo();

// HERE

main-iT N¥p1Ha T 1171 DNIT P72 MXAT MpiT NMMwn NnxX 55 may
DX (NRNNT NNWHKIT NX 1210 .// HERE My 01pna Sub ﬂP%Hhﬂ Sw
XYM 012 IDWN MANW IX (XMW 10 117X 1D DX) ﬂ’l"?"BH'\P DKUY 17N
M N 11MY 1D OX) 7PN dMYa Y1 Mpnw IR (72 arXNR 127Y 10 0OK)

JINXP2 PN L (0DTAN Pl

N
System.out.println(bl == b3);

(0BT 1) PN Mp / (20T 7113) 7TX" 1212 T5wn / (?7) i'l’l"?"BTNP nXw

System.out.println(b1l.equals(b3));

(0BT 1) PN Mp / (20T 7113) X" 1212 aDwn / (27N) TI’L’IT'BH'\P XMW
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System.out.println(b1.equals(b4));

(0BT 1) PN Mp / (20T 7113) 71X 1212 T5wn / (?7) i'l’l"?"BTNP nxXw

System.out.println(b4.equals(b1));

(0BT ) PN Mp / (20T 711) X" 1012 TDwn / (27N) TI’L’IT'BH'\P nXUw

System.out.println(b5 == b4);

(0BT 1) PN Mp / (20T 7113) 7IX" 1212 T5wn / (?7n) i'l’l"?"BTNP nXw

System.out.println(b5.equals(b4));

(0BT ) PN Mp / (20T 711) 7IX" 1212 ODwn / (27N) TI’L’IT'BH'\P XKW
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public class Base {
protected String bar = "Base";
Base (String s) { batr =s; }
void foo() {}

public class Sub extends Base {
// HERE
b

D1pn2 Sub np‘mm T 1N BN P72 MRAT TP N1Mwn DX 55 May
Apnl .// HERE myinn

N
public String bar = "Sub";
A
private String bar = "Sub";
A
Sub (String s) { bar =s; }
ST
Sub (String s) {
super();
bar = s;
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public void foo() {}

ptivate void foo() {}
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